Unit 5 

Planting the Landscape

Pre-test and Post-test

1. What does the following symbols represent? (deciduous shrub, evergreen shrub, deciduous shrub grouping, evergreen shrub grouping, or hedge)
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2. Using an engineer’s scale, measure the following object and calculate the square footage.  Scale: 1” = 10’
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3. Using an engineer’s scale, measure the following object and calculate the square footage.  Scale: 1” = 40’
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4. Using an engineer’s scale, measure the following line.  Scale: 1” = 60’

5. What are three advantages of a lawn?

6. What are three examples of warm season grasses?

7. Why should grass seed be applied in two directions?

8.      A homeowner has a lawn area that is 500 feet long and 40 feet wide.  A 25 pound bag of fertilizer costs $5.95.  Using the cooperative extension service recommendations of  30 pounds per 1000 square feet, how many bags of starter fertilizer should she purchase and what is the final cost?

9.      When digging the planting hole for a shrub with a root ball that measures 8” high and 5” wide, the planting hole should be _______ inches wide and _______ inches deep.

10.      What are three advantages of adding mulch around plants?

11. What are two advantages of slow release fertilizers?

12. A homeowner has three annual beds that are 30 feet wide and 20 feet long.   She wants to use compost and a 40 pound bag costs $1.99.  Using the cooperative extension service recommendations of one 40 pound bag per 100 square feet, how many bags of organic material should be added and what will be her final cost?

13. What are the three signal words and symbols located on pesticide containers?  Which word and symbol represents the most toxic pesticide?
14. When applying general purpose fertilizer to shrubs, where should the fertilizer be applied?
15. When should spring flowering shrubs be pruned?

16. A customer has 6500 square feet of newly established shrubs beds.  She needs to apply pre-emergence herbicide to prevent crabgrass.  The pre-emergence herbicide is available in a 20 pound bag and one bag will treat 1000 square feet. The cost for one bag is $10.95.  What month should the pre-emergence be applied, how many bags will she need, and what will be her total cost? 

17. A customer wishes to purchase seven Crape Myrtles.  Each Crape Myrtle sells for $14.99.  The sales tax in her county is 7%.  What is her total cost?

18. A customer has a shrub bed that is 50’ long and 15’ wide.  He needs to apply 3” of pine mulch.  How many cubic feet of mulch does he need?

19. The customer has selected Bermuda grass for the lawn.  The Cooperative Extension Service recommends using 2 pounds of hulled Bermuda grass seed per 1000 square feet.  He has a lawn area that is 250’ long and 30’ wide.  How many pounds of grass seed does he need?

20.      The Cooperative Extension Service recommends using 20 pounds of  6-12-12 fertilizer per 1000 square feet, 50 pounds of lime per 1000 square feet, and one bale of wheat straw per 1000 square feet.  The customer has 8,000 square feet.  A 40 pound bag of 6-12-12 fertilizer sells for $4.99.  A 50 pound bag of lime sells for $2.99 and a bale of wheat straw sells for $3.99.  The county has a 5% sales tax.  What is the grand total?
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